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29 9,000,000 * 14
29 30,0003 »50

Ste ARAHCGE ZoA 2

50,000& *50=]

300,000& »12&
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7,000 =420 x 128
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5,000& =280H 3

=

M
H
0l
H
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59,7302 +3%
2YTLY WY 25 28
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= 150, 000& »2CH x 122
XhAl 80,000& »2CH »22

S 100,000& »2CH x 12

SENERES 62,5003 *10H»22
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420
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2
3,600
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202 o4 Hl

16,719
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60,0008 22 x22 *63]
EFDI 2 ¥ %01

60,0002 %22 *23]
2 BN 2R DS

60,0003 »2H +83]

as2d FA0H

60,0003 x4 H 63|

Al QI (ol
20,0003 «15F 5«63
=0l oY)
20,0003 «2F x4 U 123
MYt of 2o Xt =t

16,719
4,080

1,440

240
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1,440

9,000
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1,000

1,000
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gEE NSH #MF SN ES
[2101 MZsot= HY MU AT S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 30,264 41,304 A 11,040
Osgd S X 2l
52,000 x30CH 123 18,720
OHEZH = 25,000 *30CH =123 9,000
Oolsgd 23 140,000& =128 1,680
OFMolE AN HMatea L Sz
32,000& 122 384
OHlag S¢ 40,0003 x12& 480
403 TtXI &M S At sl 11,050 30,000 A 18,950
02 I 2S00 2RI E A I 11,050 30,000 A 18,950
OXHICH FRSEAAE 2=
8,690,000 » 14! 8,690
OXHD FUSSAAE 2|
2,360,000 » 14! 2,360
405 RHoHE S HI 129,000 43,250 85,750
01 AL ESFHSHI 129,000 43,250 85,750
Oosgagsl 2 117,000
—dR7Y 7,800,000 = 13CH 101,400
— L= WA 7,800,000 *2CH 15,600
Olselsll 2¢ 2,000,000 =3CH 6,000
OQJEF =-IIE & 2,000,000 +3CH 6,000
AR ZHIXA 26,660 25,020 1,640
= 26,660
101 14l 2,457 2,392 65
= 2,457
4 D12t ZE2XREES 2,457 2,392 65
Odgds 22 YAAME EX 22 2,457
— QI 68,720 x 18 30 2,062
= 2,062
— = Al 4,0003 x1H+30 120
= 120
—=52g 68,7208 * 1% x4 275
2 275
201 LBt Y| 19,403 17,828 1,575
- 19,403
01 At 22l 18,736 17,108 1,628
ONWAEEEX 225 F 200,000 «5H 23| 2,000
= 2,000
OWdEFA 225 P 319,580& »12& 3,835
= 3,835
Od=eJ] X 155,700 =108 A 1,557
= 1,557
OFXNHA 252 HHME 500& x20,0000H 10,000
= 10,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OoAge+8 S=0rAl
8,000 «2H 7L «12& 1,344
= 1,344
02 8322l 667 720 A 53
OAF==2 MEINELLI AEZ
55,530& «12& 667
= 667
202 Odl 4,800 4,800 0
= 4,800
01 = LH 4 Hi 4,800 4,800 0
ONAYD D] L HTT HE0it]
60,000& x2ZH 103 1,200
= 1,200
OAYR 228 & NEHH
20,0003 *3F x5 123 3,600
= 3,600
IE2HHSEMR 288 24 23,706 24,578 AB72
= 23,706
201 LB-2d| 14,286 15,338 A 1,052
= 14,286
01 At 22/l 14,286 15,338 A 1,052
OJNZAAHNSSLUH SMASI 2L
23,0003 #272 A %103 6,210
= 6,210
OJIEAHEELSR ZEHHEH 7Y
209,020& «13CH *23] 5,435
= 5,435
ONZAAHSELZR 425 ¢
200,000& =103l 2,000
= 2,000
OIEZHEELR JlE ARESHI
641,000& x13] 641
= 641
202 O4dl 9,420 9,240 180
= 9,420
01 = LHA YI 9,420 9,240 180
OIS HEEZLUNL HRAHE Kbl
20,0003 x128 «128 2,880
= 2,880
ONZAAHSESRE ZRAE ol
20,0003 «2H+102 128 4,800
= 4,800
OINZAHNESE 2NSRFUE L0
300,000& x5H 1,500
= 1,500
ONZBHESTBNE 2o
20,0003 x128 +13] 240
= 240




SH: BRI
o #HSAAH (GO D)

eel: §§§§m (ol &9)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AL AU (512 JA D) 382,615 359,232 23,383
ol 2d | 129,831 114,937 14,894
ol 2| 129,831 114,937 14,894
101 @124l 129,831 114,937 14,894
01 2= 128,631 114,937 13,694
OAlZt2l 222 10,5093 «34H «30Al 2tx 128 128,631
03 RIAHAZ 2B+ 1,200 0 1,200
ORIAER22N 222 2
200,000& *3H %23 1,200
Jl= &3l 252,784 244,295 8,489
Jl=dl 252,784 244,295 8,489
201 Let249] 163,504 162,215 1,289
01 At 22l 163,504 162,215 1,289
Osiitglauneyd 2S84l 200,000&~12& 2,400
O&&E Jl=MEE Sl 5,500& 35 128 2,310
OdiolMEZeH EY,EdeHE ¢
250,000 x18CH=12& x1/6 9,000
OSAEX 7 (A4) 23,0003 204t Xt+128 5,520
OAESIF BRZAN Y208 242
43,5203 #3224 x3Al 2t 42,041
OFUS=EZ 22 T30 N2
3,100& *1,40000 x12& 52,080
OSME FUSE L ALASEE 7Y
140,000 #2604 2 3,640
OXlsersEleE 243 ¢ 89,500& *43] 358
OFUS=UD D] HR 22
20,0003 13| x30% 600
OAs2AHY A P2 100, 000& »7& 700
OFeI)| SHHHI| HEY
25,0002 x28CH=12& +1/6 1,400
ORole3I| TRiE £ 2
230,000 28CH *12& *1/12 6,440
ORolgiagdzEX 53,8803 x28CH x4 3] 6,035
ORULSI 225 WH  100,000& 2801 *1/2 1,400
OFS=ES==223EN(A, SEHES)
28,6003 *8&F Xt +26 4 2 5,949
OFUSES L2 UEN EX
5,000 x4=5 #2604 & 520
OQZUHE &2E S5 27,0002 25 %2600 & 1,404
OABSHELSE SALAHEA
80,200 3 A 2604 & 6,256
oz 10,0003 *3= #2604 A 780
OFYUS=E z4HY I 85 7
20,0003 *1EFA %260 A 520




SA: BoteIen
H: HH2FHH (52 D)

& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORI MA L2AH(MHEME) 500,000 »23| 1,000
OXselEI 7R 22yl 91,000& x13] 91
OJl=ge 28s 9s =224
8,000 «35FH 2L« 1204 & 6,720
Oolsglas 249 95,000& x12& 1,140
OHM BAAILEES P& 1,200,000 14 1,200
OJMEH=EE M (dIH) EXE H =
20,000 »2000H 4,000
202 04l 84,000 76,800 7,200
01 = LHA YI 84,000 76,800 7,200
OJlege+d 2 &0
20,0003 «35H 10«12 84,000
203 YR =] 5,280 5,280 0
04 FEANSEHE=LH 5,280 5,280 0
ORA2Y 223l 440,000& 123 5,280




